# The Structure of GK Algebras 

R. Gowri' ${ }^{1}$, J. Kavitha ${ }^{2}$<br>${ }^{1}$ Assistant Professor, Department of Mathematics, Government College for Women (Autonomous), Kumbakonam, India<br>${ }^{2}$ Assistant Professor, Department of Mathematics, D.G. Vaishnav College (Autonomous), Chennai, India.

## Abstract: In this paper, the new notion which is called GKalgebra from a non-empty set is introduced. The basic properties of GK algebra are analyzed. <br> Keywords: GK algebra, commutative, associative, self-distributive, subalgebra.

## I. INTRODUCTION

In 1966, the concept of BCK and BCI algebras are introduced by Iseki [3]. Since Kim and Yon [8] studied on dual BCK algebras and MV algebra, it is known that BCK algebras is a proper subclass of BCI algebras. The concept of BE algebra which is a generalization dual BCK was introduced by Kim and Y.H. Kim [7]. Meng [9] introduced the concept of CI algebra as a generalization of BE algebra and also discussed about some of its properties and relations with BE algebras.

## II. PRELIMINARIES

A. Definition:2.1 [7] An algebra ( $\mathrm{X}, *, 1$ ) of type ( 2,0 ) is said to be a BE-algebra if it satisfies the following

1) $x * x=1$
2) $x * 1=1$
3) $1 * x=x$
4) $x *(y * z)=y *(x * z)$ for all $x, y, z \in X$
B. Definition:2.2 [9] A CI-algebra is an algebra ( $\mathrm{X}, *, 1$ ) of type ( 2,0 ) satisfying the following axioms
5) $x * x=1$
6) $1 * x=x$
7) $x *(y * z)=y *(x * z)$ for all $x, y, z \in X$
C. Proposition:2.3 [7] If $(\mathrm{X}, *, 1)$ is a BE-algebra, then $\mathrm{x} *(\mathrm{y} * \mathrm{x})=1$
D. Definition:2.4 [7] A BE-algebra ( $\mathrm{X}, *, 1$ ) is said to be self distributive if $\mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{y}) *(\mathrm{x} * \mathrm{z})$ for all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$.
E. Proposition:2.5 [9] Any CI algebra X satisfies the condition $\mathrm{y} *((\mathrm{y} * \mathrm{x}) * \mathrm{x})=1$ for any $\mathrm{x}, \mathrm{y} \in \mathrm{X}$,

## III. THE NOTION AND ELEMENTARY PROPERTIES OF GK ALGEBRA.

A. Definition:3.1

A non-empty set X with fixed constant 1 and a binary operation $*$ is called GK-algebra if it satisfying the following axioms $\mathrm{x} * \mathrm{x}=1$
(ii) $\mathrm{x} * 1=\mathrm{x}$
(iii) $\mathrm{x} * \mathrm{y}=1$ and $\mathrm{y} * \mathrm{x}=1$ implies $\mathrm{x}=\mathrm{y}$
(iv) $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\mathrm{y} * \mathrm{x}$
(v) $(\mathrm{x} * \mathrm{y}) *(1 * \mathrm{y})=\mathrm{x}$ for all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$
B. Example:3.2

Consider the set $\mathrm{X}=\{1,2,3\}$. The binary operation $*$ is defined as follows
$\therefore(\mathrm{X}, *, 1)$ is a GK-algebra.

| Table: 1 |  |  |  |
| :---: | :---: | :---: | :---: |
| $*$ | 1 | 2 | 3 |
| 1 | 1 | 3 | 2 |
| 2 | 2 | 1 | 3 |
| 3 | 3 | 2 | 1 |

C. Remark:3.3

1) A GK algebra need not be a BE algebra, for $2 * 1=2 \neq 1,3 * 1=3 \neq 1$.
2) A GK algebra need not be a CI algebra, for $1 * 3=2 \neq 3,1 * 2=3 \neq 2$.
3) A GK algebra is said to be a CI algebra if it satisfies the additional relations, $1 * \mathrm{x}=\mathrm{x}$ and $\mathrm{x} *(\mathrm{y} * \mathrm{z})=\mathrm{y} *(\mathrm{x} * \mathrm{z})$
4) A GK algebra is said to be a BE algebra if it satisfies the additional relations,

$$
\mathrm{x} * 1=1,1 * \mathrm{x}=\mathrm{x} \text { and } \mathrm{x} *(\mathrm{y} * \mathrm{z})=\mathrm{y} *(\mathrm{x} * \mathrm{z}) .
$$

D. Theorem:3.4 Let $(\mathrm{X}, *, 1)$ be a GK-algebra. Then

1) $1 *(1 * x)=x$
2) $(\mathrm{x} * \mathrm{y}) * 1=(\mathrm{x} * 1) *(\mathrm{y} * 1)$
3) $y *(1 *(1 * y))=1$
4) If $1 * x=1 * y$ then $x=y$ for any $x, y \in X$
5) $x *(1 * x)) * x=x$ for any $x \in X$
6) $x *(x * y)=x=y=y *(x * x)$ for any $x, y \in X$
7) $x *(y * x)=x=y=y *(x * x)$ for any $x, y \in X$
8) $1 *(x * y)=y * x$

Proof:
a) In axiom (v) $(\mathrm{x} * \mathrm{y}) *(1 * \mathrm{y})=\mathrm{x}$ of GK-algebra, replacing y by x ,
we have $(\mathrm{x} * \mathrm{x}) *(1 * \mathrm{x})=\mathrm{x}$

$$
\Rightarrow 1 *(1 * x)=x \quad \text { by axiom (i) of definition:3.1 }
$$

b) By axiom (ii) $\mathrm{x} * 1=1$ of GK algebra
we have $(x * y) * 1=x * y$

$$
=(\mathrm{x} * 1) *(\mathrm{y} * 1) \text { by axiom(ii) of definition:3.1 }
$$

c) In theorem $3.4(\mathrm{i})$, we have $1 *(1 * \mathrm{x})=\mathrm{x}$

Now $\mathrm{y} *(1 *(1 * y))=\mathrm{y} * \mathrm{y}=1$ by axiom (i) of definition:3.1
d) Let $1 * \mathrm{x}=1 * \mathrm{y}$

Now $\mathrm{x}=1 *(1 * \mathrm{x}) \quad$ by theorem 3.4 (i)
$=1 *(1 * y) \quad$ since $\quad 1 * x=1 * y$
$=y \quad$ by theorem 3.4 (i)
e) $(\mathrm{x} *(1 * \mathrm{x})) * \mathrm{x}=(\mathrm{x} *(1 * \mathrm{x})) *(1 *(1 * \mathrm{x})) \quad$ by theorem 3.4 (i) $=\mathrm{x}$ by axiom (v) of definition 3.1
f) $\mathrm{x} *(\mathrm{x} * \mathrm{y})=\mathrm{x} * 1$ by axiom (iii) of definition 3.1 $=\mathrm{x} \quad$ by axiom (ii) of definition 3.1
$=y \quad$ by axiom (iii) of definition 3.1
$=y * 1$ by axiom (i) of definition 3.1
$=y *(x * x)$ by axiom (i) of definition 3.1
g) The proof is similar to previous proof of (vi).
h) In axiom (iv) $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\mathrm{y} * \mathrm{x}$ of GK algebra, replacing z by y , we have $(\mathrm{y} * \mathrm{y}) *(\mathrm{x} * \mathrm{y})=\mathrm{y} * \mathrm{x}$ $\Rightarrow 1 *(\mathrm{x} * \mathrm{y})=\mathrm{y} * \mathrm{x}$ by axiom (i) of definition 3.1.

## E. Theorem:3.5

Left and Right cancellation law holds in GK-algebra

1) Right cancellation law : if $x * y=z * y$ then $x=z$
2) Left cancellation law : if $z * x=z * y$ then $x=y$

Proof:
a) Let us assume that $\mathrm{x} * \mathrm{y}=\mathrm{z} * \mathrm{y}$

Then, $\mathrm{x}=(\mathrm{x} * \mathrm{y}) *(1 * \mathrm{y}) \quad$ by axiom ( v$)$ of definition 3.1

$$
=(\mathrm{z} * \mathrm{y}) *(1 * \mathrm{y})
$$

$$
=\mathrm{z} \quad \text { by axiom (v) of definit ion } 3.1
$$

b) Assume that $\mathrm{z} * \mathrm{x}=\mathrm{z} * \mathrm{y}$

Now, $\mathrm{z} *(\mathrm{z} * \mathrm{x})=\mathrm{x} *(\mathrm{z} * \mathrm{z}) \quad$ by theorem 3.4 (vi)
$=x * 1$ by axiom (i) of definition 3.1
$=\mathrm{x} \quad$ by axiom (ii) of definition 3.1
and, $\mathrm{z} *(\mathrm{z} * \mathrm{y})=\mathrm{y} *(\mathrm{z} * \mathrm{z}) \quad$ by theorem 3.4 (vi)
$=y * 1$ by axiom (i) of definition 3.1
$=y \quad$ by axiom (ii) of definition 3.1
Since $\mathrm{z} * \mathrm{x}=\mathrm{z} * \mathrm{y}$ implies $\mathrm{x}=\mathrm{y}$.
F. Theorem:3.6

Let $(\mathrm{X}, *, 1)$ be a group with respect to $\mathrm{x} * \mathrm{y}=\mathrm{xy}^{-1}$, then $(\mathrm{X}, *, 1)$ is a GK algebra.

## Proof:

We see that $\mathrm{x} * \mathrm{x}=\mathrm{xx}^{-1}=1$
and $x * 1=x 1^{-1}=x$
For any $x, y \in X$, we have $x * y=x y^{-1}$
when $x=y$, then $x * y=x y^{-1}=x x^{-1}=1=y y^{-1}=y x^{-1}=y * x$.
For any $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$,we have $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\left(\mathrm{yz}^{-1}\right)\left(\mathrm{xz}^{-1}\right)^{-1}$

$$
\begin{aligned}
& =\left(\mathrm{yz}^{-1}\right)\left(\mathrm{zx}^{-1}\right) \\
& =\mathrm{y}\left(\mathrm{zz}^{-1}\right) \mathrm{x}^{-1} \\
& =\mathrm{yx}{ }^{-1} \\
& =\mathrm{y} * \mathrm{x}
\end{aligned}
$$

For any $\mathrm{x}, \mathrm{y} \in \mathrm{X},(\mathrm{x} * \mathrm{y}) *(1 * \mathrm{y})=\left(\mathrm{xy} \mathrm{y}^{-1}\right)\left(1 \mathrm{y}^{-1}\right)^{-1}$

$$
\begin{aligned}
& =\left(x y^{-1}\right)(y) \\
& =x\left(y^{-1} y\right) \\
& =x
\end{aligned}
$$

Hence ( $\mathrm{X}, *, 1$ ) is a GK-algebra.
G. Definition:3.7

A GK algebra X is said to be associative if it satisfies $(\mathrm{x} * \mathrm{y}) * \mathrm{z}=\mathrm{x} *(\mathrm{y} * \mathrm{z})$ for all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$. Theorem:3.8 Every Gk algebra $(\mathrm{X}, *, 1)$ satisfying the associative law is group under the operation " $*$ ".

## Proof:

Putting $\mathrm{x}=\mathrm{y}=\mathrm{z}$ in the associative law $(\mathrm{x} * \mathrm{y}) * \mathrm{z}=\mathrm{x} *(\mathrm{y} * \mathrm{z})$
we have $(\mathrm{x} * \mathrm{x}) * \mathrm{x}=\mathrm{x} *(\mathrm{x} * \mathrm{x})$

$$
\begin{aligned}
\Rightarrow 1 * x & =x * 1 \quad \text { by axiom (i) of definition } 3.1 \\
& =x \text { by axiom (ii) of definition } 3.1 \\
\Rightarrow 1 * x=x * 1 & =x
\end{aligned}
$$

This means that 1 acts as the identity element in X . By axiom (i) of definition 3.1, every element x of X has its own inverse.
Now, $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\mathrm{y} *(\mathrm{z} *(\mathrm{x} * \mathrm{z}))$

$$
\begin{aligned}
& =\mathrm{y} *(\mathrm{x} *(\mathrm{z} * \mathrm{z})) \\
& =\mathrm{y} * \mathrm{x}
\end{aligned}
$$

and $(\mathrm{x} * \mathrm{y}) *(1 * \mathrm{y})=\mathrm{x} *(\mathrm{y} *(1 * \mathrm{y}))$

$$
\begin{aligned}
& =x *((y * 1) * y) \\
& =x *(y * y) \\
& =x * 1 \\
& =x .
\end{aligned}
$$

Therefore ( $\mathrm{X}, *, 1$ ) is a group.
H. Definition:3.9

A GK-algebra $(\mathrm{X}, *, 1)$ is a self-distributive if the operation $*$ is

1) Right distributive law $(\mathrm{x} * \mathrm{y}) * \mathrm{z}=(\mathrm{x} * \mathrm{z}) *(\mathrm{y} * \mathrm{z})$ for all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$.
2) Left distributive law $\mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{y}) *(\mathrm{x} * \mathrm{z})$ for all $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$.
I. Definition:3.10

A GK algebra X is said to be commutative if it satisfies for all $\mathrm{x}, \mathrm{y} \in \mathrm{X},(\mathrm{x} * \mathrm{y}) * \mathrm{y}=(\mathrm{y} * \mathrm{x}) * \mathrm{x}$.

## J. Proposition:3.11

Let X be a GK algebra. If $\mathrm{x} \neq \mathrm{y}$ and $\mathrm{x} * \mathrm{y}=1$ then $\mathrm{y} * \mathrm{x} \neq 1$.
K. Proposition:3.12

Let ( $\mathrm{X}, *, 1$ ) be a GK algebra. Then for any $\mathrm{x}, \mathrm{y}, \mathrm{z} \in \mathrm{X}$,

1) $\mathrm{x} *(\mathrm{x} *(\mathrm{y} * \mathrm{x}))=1$
2) $\mathrm{y} *(\mathrm{y} *(\mathrm{x} * \mathrm{y}))=1$
3) $(x * y) * x=(y * x) * y$
4) $(\mathrm{x} * \mathrm{y}) * \mathrm{y}=(\mathrm{y} * \mathrm{x}) * \mathrm{x}$
5) $(\mathrm{x} * \mathrm{y}) * \mathrm{x}=(\mathrm{x} * \mathrm{x}) * \mathrm{y}$
6) $(\mathrm{x} * \mathrm{y}) * \mathrm{y}=(\mathrm{y} * \mathrm{y}) * \mathrm{x}$

Proof:
a) Let us consider $\mathrm{x} *(\mathrm{x} *(\mathrm{y} * \mathrm{x}))$

$$
\begin{array}{ll}
=\mathrm{x} *(\mathrm{x} * 1) & \text { by axiom (iii) of definition 3.1 } \\
=\mathrm{x} * \mathrm{x} & \text { by axiom (ii) of definition 3.1 } \\
=1 & \text { by axiom (i) of definition 3.1. }
\end{array}
$$

b) The proof is similar to proof (i) in proposition 3.12.
c) Consider ( $\mathrm{x} * \mathrm{y}$ ) $* \mathrm{x}$

$$
\begin{array}{ll}
=1 * \mathrm{x} & \\
=1 * \mathrm{y} & \text { by axiom (iii) of definition } 3.1 \\
=(\mathrm{x} * \mathrm{y}) * \mathrm{y} & \text { by axiom (iii) of definition } 3.1 \\
=(\mathrm{y} * \mathrm{x}) * \mathrm{y} & \text { by axiom (iii) of definition 3.1 }
\end{array}
$$

d) Consider ( $\mathrm{x} * \mathrm{y}$ ) $* \mathrm{y}$

$$
\begin{array}{ll}
=1 * \mathrm{y} & \\
=1 * \mathrm{x} & \text { by axiom (iii) of definition } 3.1 \\
=(\mathrm{x} * \mathrm{y}) * \mathrm{x} & \text { by axiom (iii) of definition } 3.1 \\
=(\mathrm{y} * \mathrm{x}) * \mathrm{x} & \text { by axiom (iii) of definition } 3.1
\end{array}
$$

This proof shows that the commutativity of GK algebra.
(v) Consider $(\mathrm{x} * \mathrm{y}) * \mathrm{x}=1 * \mathrm{x}=1 * \mathrm{y}=(\mathrm{x} * \mathrm{x}) * \mathrm{y}$ by axiom(i) \& (iii) of definition 3.1
(vi) Proof is similar to (v) in proposition 3.12.
L. Theorem:3.13

In GK algebra $X$, for any $x, y, z \in X$ if associativity holds then the following are equivalent

1) $\mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{z}) * \mathrm{y}$
2) $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\mathrm{y} * \mathrm{x}$

Proof
(i) $\Rightarrow$ (ii) Assume $\mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{z}) * \mathrm{y}$

Then $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=((\mathrm{y} * \mathrm{z}) * \mathrm{z}) * \mathrm{x}$
$=(\mathrm{y} *(\mathrm{z} * \mathrm{z})) * \mathrm{x}$
$=(\mathrm{y} * 1) * \mathrm{x}$ by axiom (i) of definition 3.1
$=\mathrm{y} * \mathrm{x} \quad$ by axiom (ii) of definition 3.1
(ii) $\Rightarrow$ (i) Assume $(\mathrm{y} * \mathrm{z}) *(\mathrm{x} * \mathrm{z})=\mathrm{y} * \mathrm{x}$

Then $\quad \mathrm{x} *(\mathrm{y} * \mathrm{z})=(\mathrm{x} * \mathrm{z}) *((\mathrm{y} * \mathrm{z}) * \mathrm{z})$
$=(\mathrm{x} * \mathrm{z}) *(\mathrm{y} *(\mathrm{z} * \mathrm{z}))$
$=(\mathrm{x} * \mathrm{z}) *(\mathrm{y} * 1) \quad$ by axiom (i) of definition 3.1
$=(\mathrm{x} * \mathrm{z}) * \mathrm{y}$. by axiom (ii) of definition 3.1

## M. Definition:3.14

Let ( $\mathrm{X}, *, 1$ ) be a GK-algebra. A non-empty subset A of X is called a subalgebra of X if $\mathrm{x} * \mathrm{y} \in \mathrm{A}$ for any $\mathrm{x}, \mathrm{y} \in \mathrm{A}$.
N. Theorem:3.15

Let $(X, *, 1)$ be a $G K$ algebra and $A \neq \varphi, A \subseteq X$ then the following are equivalent

1) $A$ is a subalgebra of $X$
2) $x *(1 * y), 1 * y \in A$ for any $x, y \in A$

## Proof:

(i) $\Rightarrow$ (ii) Let A be a subalgebra of X . Since A is a subset of X which is non-empty there exists an element $\mathrm{x} \in \mathrm{A}$ such that $\mathrm{x} * \mathrm{x}=1 \in \mathrm{~A}$.
Since $X$ is closed under ' $*$ ', $y \in A, 1 * y \in A \Rightarrow x *(1 * y) \in A$.
(ii) $\Rightarrow$ (i) Since $\mathrm{x} * \mathrm{y}=\mathrm{x} *(1 *(1 * \mathrm{y}))$ by theorem 3.4 (i)
which implies $\mathrm{x} * \mathrm{y} \in \mathrm{A}$ for any $\mathrm{x}, \mathrm{y} \in \mathrm{A}$.
$\therefore \mathrm{A}$ is a subalgebra of X .

## IV. CONCLUSION

In this paper the notion of GK algebra is introduced and studied about some of their properties. It may lead our future study of GK algebra such as homomorphism of GK algebra, filter of GK algebra and Ideal theory on GK algebra.

## REFERENCES

[1] M.A. Chaudry; On BCH-algebras, Math, Japan. 36 No.4, pp 665-676,1991.
[2] Q.P.Hu and X.Li;On BCH -algebras.Sem.Notes Kobi Univ,11 No.2,Part 2 .pp 313-320,1983.
[3] K.Iseki; An algebra related with a propositional calculus, Proc-Japan Acad. 42 ,pp 26-29,1966.
[4] K.Iseki;On BCI-algebras,Math.Sem.Notes Kobe Univ.8, pp 125-130,1980.
[5] K.Iseki and S.Tanaka; An introduction to the theory of BCK-algebras, Math.Japonicae, 23 No.1,pp 1-26, 1978.
[6] Y.B.Jun, E.J.Roh and H.S.Kim ;On d-algebras, Math.solovca 49,pp 19-26, 1999.
[7] H.S.Kim and Y.H.Kim; On BE algebras, Sci.Math.Jpn. Online e-2006, pp 1199-1202,2006.
[8] K.H.Kim and Y.H.Yon; Dual BCK-algebra and MV algebra, Sci.Math.Japon. 66,pp 247-253,2007.
[9] B.L.Meng; CI-algebras, sci. Math.Japon. vol. 71 No. 2, pp 695-701,2010.

do
cross ${ }^{\text {ref }}$
10.22214/IJRASET


IMPACT FACTOR: 7.129

TOGETHER WE REACH THE GOAL.

IMPACT FACTOR:
7.429

## INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE \& ENGINEERING TECHNOLOGY
Call : 08813907089 @ (24*7 Support on Whatsapp)

